6612, SOLUTION, SSC CHSL

Ques 1. ANS (B) Solution:

Opportunist: is someone who takes advantage of any
and all opportunity regardless of planning or principle
Altruist: is someone who is more focused on other’s well
more than his own.

Agnostic: is someone who does not believe in god.
Assertive: is someone who has a dominating or forceful
personality.

Abusive: is someone who is extremely offensive or
insulting.

So, the antonym of "Opportunist" is "Altruist".

Ques 2. ANS (C) Solution:

The most appropriate synonym of the given word
'‘Anguish’ is 'Distress'.

Anguish: extreme unhappiness caused by physical or
mental suffering.

Distress: a feeling of extreme worry, sadness, or pain.
Ques 3. ANS (C) Solution:

While arranging the parts of the sentence, we have to
find some grammatical or contextual relationships
between them. So let's find them out.

Part S comes first as it is independent of any other
sentence and introduces the initial part of the subject.
Also, the subject 'The debate' ends with a preposition
‘about’, which means the next part would contain a
subject complement, most likely in form of a noun
phrase.

Part R comes next as it provides us with the necessary
complement of the subject (The debate about taking
young children).

Part P follows Part R as it completes the subject
complement and gives the verb (The debate about
taking young children to art galleries has).

Part Q comes at the end as it gives the object of the
sentence (a long history).

Therefore, as per the points mentioned above, we find
that the correct order is 'SRPQ'.

So, the sentence in the correct order is 'The debate
about taking young children to art galleries has a long
history.'

Ques 4. ANS (C) Solution:

Correct sentence: You don't have a monopoly on
suffering; other people have problems too.

The error lies in Part (c) of the sentence.

The given sentence is not making complete sense.
Therefore, the use of 'Don't' in Part (c) of the sentence
should be removed to make it grammatically correct.
Ques 5. ANS (A) Solution:

Toxic waste from factories is hazardous to the
environment.

In the given context, the underlined word poisonous will
be replaced with toxic.

Poisonous means having the qualities of a poison.
Toxic means containing poisonous substances. So, it is
the most appropriate option according to the given
context.

Ques 6. ANS (C) Solution:

Betray means expose (one's country, a group, or a
person) to danger by treacherously giving information to
an enemy.

The meaning of the given words-

Conceal means not allow to be seen; hide.

Loyal means giving or showing firm and constant
support or allegiance to a person or institution.
Deceive means deliberately cause (someone) to believe
something that is not true, especially for personal gain.
Devoted means are very loving or loyal.

Clearly, 'deceive’ is the correct answer.

Ques 7. ANS (B) Solution:

The above-given sentence is in the active voice.

We need to change it in the passive voice.

The following steps are required to change the given
sentence into passive voice:

The subject 'the tennis ball' of the active voice will
become the object of the passive voice.

The object 'Dhiraj' of the active voice will become the
subject of the passive voice.

The tense(simple past tense) will change according to
the following structure:-

Active Voice - Subject + did + V; or V, + Object.
Passive Voice - Object + was/were + V3 + by + Object.
Thus, 'hit" will be converted to 'was hit'.

Ques 8. ANS (A) Solution:

The correct answer is 'Magnificent.’

'Magnificent": The correctly spelt word is '‘Magnificent'
and it means extremely beautiful, elaborate, or
impressive.

Example: She looked magnificent in her wedding dress.
Ques 9. ANS (A) Solution:

Word Appeared fits in the gap (1).

Appeared - To start to be seen or to be present

Liked - To find somebody/something pleasant
Wanted - To be interested in having or doing
Apparently - As far as one knows or can see

Ques 10. ANS (C) Solution:

Word Headed fits in gap (2).

Footing - A secure grip with one's fee

Tourist - Someone who visits a place for pleasure and
interest, usually while on holiday

Headed - Having ahead of a specified kind

Journey - An act of travelling from one place to another
Ques 11. ANS (A) Solution:

Word Brought fits in the gap (4).




Brought - Take or go with (someone or something) to a
place

Walked - Move at a regular pace by lifting and setting
down each foot in turn, never having both feet off the
ground at once.

Took - Lay hold of (something) with one's hands.
Asked - Say something in order to obtain an answer or
some information

Ques 12. ANS (C) Solution:

Word Forgotten fits in the gap (5).

Retraceable - To go over again with the sight or
attention

Missed - Fail to notice

Forgotten - Fail to remember

Intractable - Difficult to influence or direct an intractable
disposition

Ques 13. ANS (B) Solution:

Word Nearby fits in the gap (3).

Nearby - Not far away

Distantly - Far away

Nearing - Come near to

Residential - Designed for people to live in

Ques 14. ANS (A) Solution:

The correct answer is ‘The name of which'.

Let's consider the following points-

In the given context, the underlined word whose name
will be replaced with the name of which.

'Whose' is used for persons or living things therefore,
‘the name of which’ is appropriate here for ‘apartments’.
The correct sentence- My uncle lives in nearby
apartments the name of which | have forgotten.

Ques 15. ANS (B) Solution:

The correctly spelt word is 'Blatant'.

The word means 'very clear or obvious'.

Example: He lifted his head in blatant rejection.

Ques 16. ANS (C) Solution:

Let's look at the meaning of the given idiom:

A Hard nut to crack - a problem that is very difficult to
solve or a person who is very difficult to understand. For
Example: The test problem was a hard nut to crack.
Ques 17. ANS (A) Solution:

A person who devotes his/her life for the welfare of
others- Altruist.

Altruist means showing a disinterested and selfless
concern for the well-being of others.

Example: He's an altruist, thinking he's doing everything
for the best.

Ques 18. ANS (D) Solution:

'Gift of the gab' is an idiom which means the ability to
speak fluently and eloquently. A person with this gift
would be a good orator.

Ques 19. ANS (B) Solution:

The correct answer is:

The counter clerk asked me, "What is your mobile
number?”

When we convert a sentence from indirect to direct
speech, we make the following changes:

Quotation marks are added and the sentence ends with
a full stop, comma or interrogation mark depending on
the tone of the reported speech.

The tense of the verb, in the reported speech involving
any order, request and instruction does not undergo any
change during the conversion from indirect to direct
mode. This is also true if the statement is a universal
truth.

If the reporting verb is in the present tense, it does not
undergo any change.

We omit the word 'to' before the verb if the verb is in
bare infinitive.

When the reporting or principal verb is in the past tense,
all past tenses of the indirect are changed into the
corresponding present tenses.

Words expressing distance are generally converted into
'into" words expressing nearness in time or place. For eg.
then becomes now, that day becomes today, that
becomes this etc.

In reporting commands and requests, the verb
expressing command or request is omitted and the
infinitive is changed into the imperative.

In reporting questions the verbs like asked, inquired are
omitted and replaced by 'said to'.

In reporting exclamations and wishes, the verb
expressing exclamation or wish is omitted and simply
replaced by 'said'.

Option (B) follows all the proper rules of sentence
transformation.

Ques 20. ANS (B) Solution:

Optimistic: To be hopeful and confident about the
future.

Pessimistic: To see the worst aspect of something and
believes that the worst will happen.

E.g. In general Neha was a very pessimistic person and
so people believed bad things happened to her.

Thus, it is clear that optimistic and pessimistic are
opposite terms.

Ques 21. ANS (A) Solution:

While arranging the parts of the sentence given in the
options, we have to find some connections between
them.

Sentence Q is telling about how we do observations of
our universe.

So, Option (A) is the only option that starts with "Q". The
rest of the options are eliminated.

Ques 22. ANS (C) Solution:

Acoustics is the correct answer.

Acoustics means the branch of physics concerned with
the properties of sound.




Mechanics means the branch of applied mathematics
dealing with motion and forces producing motion.
Radiation means the emission of energy as
electromagnetic waves or as moving subatomic particles,
especially high-energy particles which cause ionization.
Audition means an interview for a role or job as a singer,
actor, dancer, or musician, consisting of a practical
demonstration of the candidate's suitability and skill.
Ques 23. ANS (C) Solution:
The correct word will be “because'.
The sentence implies here the reason as to why many
industries hesitate to adopt pollution control measures.
Complete sentence is "Because pollution control
measures are expensive, many industries hesitate to
adopt them."
Ques 24. ANS (D) Solution:
The metamorphosis of our civilization from an
agricultural society to today's complex industrial world
was accompanied by war.
Metamorphosis: a complete change of form (as part of
natural development)
The sentence implies here the transformation /changes
in civilization (human society) from agriculture to today's
industrial world was accompanied by war.
Ques 25. ANS (A) Solution:
The correct sentence is- I'm wondering 'whether' to have
the fish or the beef.
The word 'whether' is a conjunction and it means '(used
especially in reporting questions and expressing doubts)
if, or not'. It is the most suitable option according to the
context of the given sentence.
Example: | wasn't sure whether you'd like it.
Ques 26. ANS (B) Solution:
AP B Y1, TR daat far S g &
The figure may be labeled as shown:

C

e
B r_;_-’ - e, D

e

F
IR YW ABG, BCG, CGE, CDE, AGE, 3R AEF T TveT

6%l

Y i1 gcdl A 99 81d §, TP T ABE, ABC, BCE, 3R
ACE § 3iufq e & 4

MBI 6 + 4 = 10 YA I

The simplest triangles are ABG, BCG, CGE, CDE, AGE, and
AEF i.e. 6 in number.

The triangles are composed of three components each
are ABE, ABC, BCE, and ACE i.e. 4 in number.

~ There are 6 + 4 = 10 triangles in the figure.

Ques 27. ANS (D) Solution:

]%CITTP:IT%:

ST [T : HIHHT — BT, J3T Ve BT R il 5|

4l TR

gfmm: ? — YTTHT T8 RIF Il & STe1 SH1HTT gil
I

TG, "SI =T : TTHT T & SR el H 5

Given:

Gambling : Casino — Casinos are places to play

gambling.

Similarly:

Acting : ? — A stage is where acting takes place.

Here, 'Acting : Stage' is the correct pair as per the logic.

Ques 28. ANS (B) Solution:

IRI®B! ¥ G- W, 89 UTd & b Uy 3apfd fasweq (8) A

sfafifea g S o =i fyaman mar ©:

On close observation, we find that the question figure is

embedded in option (B) as shown below:

3|~ g
Ques 29. ANS (A) Solution:

SRS T ¥ § 3R Safer 3T@! I &, Fafes
TP W g

ST HHTTAT Jeiel 3T §H YbR §IT:

Ireland is a country and Dublin is its capital, whereas

Greece is a country.
So the possible relationship diagram would be:

v
EEikg

Ques 30. ANS (B) Solution:

fem mar 8 f ABSOLUTE &1 ETULOSBA ferar ST 3|
Tch: R[eq BT He, e W 3H&RT & HH Pl Jecl B A
ST B

Given that ABSOLUTE is written as ETULOSBA.

Logic: The code of the word is formed by reversing the
order of the letters in the word.

ABSOLUTE

ETULOSBA

3 UHR, CHAMPION & fRiT e 2;
Similarly, the code for CHAMPION is:

CHAMPION

NOIPMAHC




I TR, TG CHAMPION & T o NOIPMAHC BT
Thus, CHAMPION is written as NOIPMAHC in that

language.
Ques 31. ANS (D) Solution:
fawed (D): -, x, =, +

=16-280x6+84+4=0

=16-280x 1/14+4=0

=16-20+4=0

=20-20=0

=0=0

Ques 32. ANS (C) Solution:

MEGASTAR @1 76 & U T Gedg T Sl ]

M(13) + E(5) + G(7) + A(1) + S(19) + T(20) + A(1) + R(18)
-8=84-8=76

ENTER @I 57 & U H GHeds [l ofrdl |

E(5) + N(14) + T(20) + E(5) + R(18) -5 = 62 - 5 = 57

T TR,

CAPSLOCK ! FHeag fdar ST

CB3) + A(1) + P(16) + S(19) + L(12) + O(15) + C(3) +
K(11)-8=80-8 =72

Y UHR, g CAPSLOCK & forT §e 72 &

Ques 33. ANS (B) Solution:

T T g &1 IUaT ax1-gar 3@ &1 M & forg
ST Bl

Given Symbols are used to draw family tree diagram.

e & vl aref

O wfgan
[] LRl
= | TEEE
ui-a

| PE R
W

1.5, QP Ul 8

2.P, s &I U

3.R QFTIAT

W 4T T gt &1 IUanT Fxds IRIad Yyl Bl =1-ggf
3 H ST S 8 TR g,

1. Sis wife of Q

2. Pis S's father

3.Rissonof Q

The above relation is represented in family tree diagram
using above Symbols is given below,

P
Q
R
(el P, R BT AT &

So, P is R's Maternal Grandfather.

Ques 34. ANS (A) Solution:

feam T THipRur - 52 £+ 13 46 - 25 x 2 = 17
fdredl & STHR WA Bl IRER TG WR
faeed (A) 6 3R 25

=252 +13+25-6x%x2=17
=>4+25-6x2=17

=>4 +25-12=17

=29-12=17

:17=.'|7 ]

= §41 U8 = G ugl

Ques 35. ANS (D) Solution:

IAH THITAd 9 3 2 exifan &

The least possible Venn diagram is shown below:

e
| g for ot arsfear 819 &) T & — 3 © (or
g%wsﬁmm%w%,mﬁ&ﬁ%mqﬁs‘rw

gafay, gut fora St +ff emgfean 18t 81| safee 78

A 0 ST §1 3RIG + FHIET = 3T

| $O TRYA M TN o0 § (99 B ofmsfea
TRAA §, Had S &1 Y - TS + $S -1a1, foraer 3 §
fh o ST TRAT & 3R P NS TERAT 181 &,
T B O § [ 0 TR onsfear €, afes ga
TRAA & AY YT & IR B 761 S | % a8 smefear o
31 & A1 81 ©, S Ug AT SIIell § b 39 e 7
forar S g B |

SARTE, a1 1 3R A & 11 STHR0T =l 5

Conclusions:

[. All Jio being Idea is a possibility — False (Part of Jio
which is part of airtel can never be Idea)

So, All Jio will never be Idea. That's why it definitely holds
False. False + Possibility = False

[Il. Some Aircel is not idea — False (Only few Idea are
Aircel, Only few means - Some + Some not), which
means Some Ildea is Aircel and Some idea are not Aircel,
from this we know that some Aircel is Idea but we don't
know about the remaining part of Aircel that whether it
is part of Idea or not, so it is considered as Cannot be
determined.

So, Neither | nor Il follows.

Ques 36. ANS (D) Solution:




gt 3aRd ey g UaR &
UA® UG Bl 3/2 I T[ON fosan ST & |
The pattern followed here is:

Each term is multiply by 3/2.

8 12 18 27 40+

I | | I
3 3 3 3

o = x—_ X — X

2 2 2 2
SfeTY, 3RTeH =T 40/1/2 BHTT
So, the next number will be 40/1/2.
Ques 37. ANS (C) Solution:
7T AR WY 7 YR :
The pattern followed here is:

3 20 63 144 275 468
L L Il Il Il I

+1|? +:1|3 +ﬁ1 +11?1 +1|93
+26 +38 +50 +62
L 1L 11 I
+12 12 +12

SHIQTY, T U< 468 BT
So, the next number will be 468.
Ques 38. ANS (D) Solution:
3T T 2rec] B! AR ford o8 H 3 T Siloll YeghI=r
feaTs d § a8 R feemn mn &:
The arrangement of the given words in the order in
which they appear in an English dictionary is as shown
below:
7. Latent
3. Latitude
1. Letter
4. Leverage
6
2
5

. Levy
. Lexicon
. Lovable
e, BT I "7, 3, 1,4, 6,2, 5" B
So, the correct answeris "7, 3, 1,4, 6, 2, 5".
Ques 39. ANS (A) Solution:
E'CfUT Qﬁlﬁ'@’@"’ﬂ:
The mirror image will be as follows:
B INCUBATOR

IMCNBYLOHK
Ques 40. ANS (A) Solution:
feam T g,
18 +26-25x10=5 =42
- 3R '+ BT MUY H SEad go Hadr 8
18-26+25x10 =5 =42
THIBUT BT ST TS 18 - 26 + 25 x 10 = 5
=18-26+ 25 x 2
=18 - 26 + 50
= 68 - 26
42 = graT g
W,WW'—\%T#%I

Ques 41. ANS (D) Solution:

"'IJ

TRER 2ite B FdiaR YRa1 iR el o 8 o g o
(4) fhrerh B

The transparent sheet is folded at the dotted line and we
get figure (4).

Ques 42. ANS (A) Solution:

<l 7T et 8-

C4X, FOU, I16R,?

SRR febar T b =i forw T R & e e -
The series given is-

C4X, F9U, I16R, ?

The logic followed is shown in the figure below-

C - =3 F =& 1 + 3 -@
2?93t —— 1614% @ i5%)
=3 &=

X —2,u —2.R (©)
o 9, §9 4T 9 g 1 7' P RIM W L250 T
From the figure, we can see that L250 will come in place
of '?".
Ques 43. ANS (C) Solution:
fufefad ab 8
O $t g1 fRUfal &1 & B ¥@d g, ‘6 3dfd 18R
B 2 § WY A ¢
G Ul B 6’ ¥ Gf&rumad fa=n § ged g, defid wasw
T g & fauid givl|
The logic followed is:
Considering both the positions of the dice, '6' is the
common face in figure 1 and figure 2.
Moving in the clockwise direction in both the dice from
'6', the corresponding faces will be opposite each other.

SIS

I

4

B
SHM 6’ & faudia ST 1 B

FHfeT Fel I 1" B

Thus, the number opposite to '6"is '1'.

So, the correct answer is "1".

Ques 44. ANS (A) Solution:

ST - 3feolTa™ ! Bl a1 T <=0 &1 Gt 3T
D! IS Tl HH A B

Except Albania — Algiers, the list of all other countries
and their capital is in the correct order.

Ques 45. ANS (C) Solution:

& 7T oiae H IR 1eR F T e T § SR gER 3ieR
&1 +ff ofTel UG & fufoT & fore &) & e mar B

&} 7S e g #, < TS e H WSt TS WReAT STat
G & fHi0r o forg Ueb b1 ik bt ot &)




In the given series first letter is decreased by three and
the second letter is also decreased by two to form next
term.
In the number series number added to the given number
increases by one to form the next number.
-3 -3 -3 -3
| Il Il I |
N5Y KF7T HI10R E14P B19N
I I L Il J
-2 2 | -2 -2
+2 +3 +4 +5
Ques 46. ANS (A) Solution:
w1 Ty FHe T g,

The correct mathematical equation will be;
(36—4)=8—4
J2-8 4

32324

— 1)
Ques 47. ANS (D) Solution:

fearm g:
i = g - 4
ﬂﬁH:TIET'T=7:9

3id,

gd = e + 4

@y @ + 4) = 7/9

9 x gig = 7 x GiH + 28

2 x gfe = 28

e = 14

el SR 74 4 BIS el 6|

Ques 48. ANS (C) Solution:

By changing the signs:
=100-5x272 +17 + 4
=100-5x16+4

=100-80 + 4

=20+ 4

=24

Ques 49. ANS (C) Solution:

&

T : JH 37eqg g8 I U Rl g
T UPRR,

FT 7 B §H 3IHT U™ Hal g
SO, HEl TR 3Ha’ €|

The logic is:

Study : Knowledge — Study gives us knowledge.
Similarly,

Work : ? — Work gives us experience.
So, 'Experience’ is the correct answer.
Ques 50. ANS (A) Solution:

i 2020 SHfUTY §, 1 TR 2021 Pl FIAIR AT | 3f:
31 fHeR 2020 B! HHAR G|

S, el IR AHAR B |

Since 2020 is a leap year, 1 January of 2021 will be
Tuesday. So 31 December 2020 will be Monday.

So, the correct answer is Monday.

Ques 51. ANS (B) Solution:

fear mn g

LMN & 2M = 70° 3R LM = NM

U S{AYURTM:

wl?argﬁgaﬁ T Yeffi & fauRid @l HIvr sRTeR B

ﬁga%mﬁmmaﬁﬂ— 180

70°

|
M J N
L= N (FHfgaTg By 1707 gr)

HET 2L = 2N = x

D101 Y ART W],

=>zL+ 2M + «N = 180°

= x+ 70° + x = 180°

2x = 110°

x = 55°

~ zNis 55°

Ques 52. ANS (D) Solution:

ﬁtﬂi{Gﬂ:

BAlPIER 6 He | 180 fobeil / e bl Tt & web Mfdd gt
TT HAT 8|

B9 W4 ¢ fob, a9 &1 718 gt = T x Wy

$A G = 180 x 6 = 1080 farHt

3{d, BAIBIPR DI 10/3 S T TH I O B gt |
a9 TIfd g1t = (1080 = 10/3)

= (1080 x 3/10) = 324

Y 324 w7 9 ot Tfa A T B gRT

Ques 53. ANS (D) Solution:

ETITTI'CIT%:

U Sdfad &t A1d Ia™ &1 1fd = 7.5 feHt/der
¢RI &I i = 2.5 fopdt/der

o s g1 9 €,

gfddd TIfd = =1d &1 T - 4RI D1 i

3% d Tfd= A1d B i + URT PY I

Ui d T = 19 &1 71 - URT &1 i
gfcrpd Tfd = 5 fasl/Eer

3Hd Tfd= = A1d &I T + YRT B Tfd
3% d TMid= 10 fopHi/eer

U9 & 3UR,

<& ferget T - d/3rgga Tfd = 369




D/5 - D/10 = 3
D/10 = 3
D = 3 fopHt
Ques 54. ANS (C) Solution:
Uil BT SR H G B = (25 + 60 + 40 + 35 + 20)
x 100
= 18000
Ui ST IR B G SEN = (35 + 75 + 20 + 40 +
30) x 100
= 20000
3y Ufd=rd = (20000-18000)/18000 x 100
= 2000/18000 x 100
= 1/9 x 100
=11.11% = 11%
Ques 55. ANS (A) Solution:
I BT M = Tr2H
T T M = 4/3 TIR®
g,
r 9@ &1 B
H 9o &t SHars
R Tt T fBsan
S Tl §& ST &,
M BT AT = g7 BT A
= (4/3) x Tx (3 =1 x (6)° x H
= (36/36)
H=13H
I & WR H 1 9t 3t g S 8
Ques 56. ANS (B) Solution:
ﬁ'CITTI'CIT%:
TS 3, 4, 5 3R 6 9 fqUTT B
=3, 4,5 6B 4979 fFHdd |,
=2x2x3x5=60
3,4,53R6
J fauTsd T 60 B
Ques 57. ANS (B) Solution:
fearman g,

Ques 58. ANS (A) Solution:

ey Ein 38 —cos34 N ==
T = 5 (FEc

sinf4-cos

3d, N = 3sinf — 4sin®6 — (4 cos®8 — 3 cos )

> 3(sinf + cosf) — 4 {_4111""8 + cos” )

> 3(sin A + cosf) — 4(sin # + cos 8) (sin @ — sin A cos  + cos>f)
> (5in 6 + cos §) {3 — 4 (sin?6 — sinfcosf + cos’6) }

> (sin @ + cos #){3 — 4(1 — sin fcos A)}

e, 1 Lsinfeoef)l 4 g
» 3 — 4(1 —sinflcosf) + 1
> 4 5in f cos @
Ques 59. ANS (D) Solution:
fean T g,
foreht Tt & 40% & TG H 3% 1 9 g,
30% 3o # 3R 1 WA 8,
10% GIF! ol 7 SR d 81 91 &,

Fd B §UBH = 40% + 30% - 10% = 60%

3(d: g favat # Iitol 19 9T B = 100 - 60 = 40%
Ques 60. ANS (D) Solution:

fear &:

Pd YRR = 1120 TYT

Wtrq 50 O 3R 25 T & Ryaep! T U =

ﬁﬁmmu@ Ryaent o1 = « ufd Rigds &1
B9 S © o5,

13007 = 100 T
qﬁrm%qﬂme@m_mo-so-zswan
oDl B G BT SAUIT 1: %% = 6:3:2
Rapi ol paged = 24:6:2

=12:3:1=16

16 3BTs = 1120

18PIS = 70

25 09 & Ryad! 1 4 = 1 3PS

=1 x 70

70 JUT

25 U & Ryae! &1 $d Jed 70 TUT B |

Ques 61. ANS (C) Solution:

far &:

3AeHIed : U = 6:5

22 ofex forgyr &) urh @ sigd fear S 21

AT 3ehIEd = 6x 3R UHT = 5x

21 e Ao | 3fepigd = (6/11) x 22 = 12 iR
AR T = (5/11) x 22 = 10 AR

UHTIER,

6x-12):(5x-10+22)=9:13

= 13(6x - 12) = 9 (5x + 12)

= 78x — 156 = 45x + 108

= 78x — 45x = 108 + 156

= 33x = 264

>x=28
w,uﬁwm%ma@%a:ms-u:w
UFRITUA & §1¢ 3fchlgd B HIET 36 Tl g

Ques 62. ANS (D) Solution:

x - 1" & TR & 9 ue g gy e man g,




Teer = (=) x TG X7 (1/%)

_( 1) XHC XXH—rXX—r

_( 1) xﬂC XXH -2r

el n 11 8 (3rfd, faww), SR 1 ger ue g

Yo (n+1)df UG = 61 UG 3R % (n + 3)dl Ug = 7al
Uq

T(; _ T!’.-]_ _ I:_—l_]:_\ " nC!’. v }[]'1 10

11 10x9x8x 7 .
= ~Thxax3x2x1 < X

s
=-462 x

43 \6 9
3R TIT = Tf._]_ — I:_—ljﬂ' - 11(:‘-”' ot }[]']' L

— TExdx3x2x1

Ques 63. ANS (B) Solution:
A p

R

B
O T HTH% &.
AAPO #:
AO’ = AP? + OP?
252 = AP? + 7°
AP? = 625 - 49 = 576
AP =24 JHI
AQ = AP =24 T}
BQ = AB - AQ = 36-24 = 12 9!
3Hd
BQ’ = BR x BS
12 = 99 + RS)
144 = 81 + 9RS
63 = 9RS
RS = 7 THt
Ques 64. ANS (B) Solution:
T YOIl = V(17) - (15)2
=+/289 - 225
64 = 8 HI
ESIN
&% = (15 x 8)m?
120 |
Ques 65. ANS (A) Solution:
ﬁ'CITTI'CIT%:
Fd faarst = 22, 000
o Ul FA ara Raarfsal &1 ufasd = 10%
TYafesy WaH ara faenfsal &1 ufa=rd = 20%
TAWHA R P,
SUTT = TYAfCHR H ardl Raare! : f$x o A arad

AT B AT FATIEY = 20/100 x 22, 000 = 4,400
fop Ul FA a1 RAATSt = 10/100 x 22, 000 = 2, 200

S{UTd = 4400 : 2200

=2:1

Ques 66. ANS (B) Solution:

e 3 auf & oy Tehgfg ST SR YR SIS & S
3R fea mar g,

TN = 3R x (100)2 / ()

= 16x100x100/ 5x5

= 6400 3.

Ques 67. ANS (B) Solution:

IR GRT AT fas SR Sitg fage & ueh a1y uTed 3id
=45 + 38 = 83

fifdapt SR T o Mg §RT U 3f = 55 + 82 = 137
3(UfEd % = 83/137 x 100 = 60.58 %

Marks obtained by Ragini in Chemistry and Biology
together = 45 + 38 = 83

Marks obtained by Mohini in Physics and Maths = 55 +
82 =137

Expected % = 83/137 x 100 = 60.58 %

Ques 68. ANS (D) Solution:

R ES

A1 = GH 3Iadls BT N/ STl Bt TS

6 & UG 10 T[UTST 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, 66,
72, 78 B
MAABABIANT = 6 + 12 + 18 + 24 + 30 + 36 + 42 + 48
+54+60+66+72+78

= 546

3B Bl T=AT = 13

TS = 546/13

=42

6 % UgA 13 T[UIS T HIET 42 B

Ques 69. ANS (D) Solution:

AT A &1 TS 3R AsTs HAT: ' 3R b B
TYTIAR, HaH &) THals 3T dISTs & ST ¥ 3 HieR
3D g

| = (2b + 3) Hex

g1 9 § {5,

SMIATHR &7 & aRTY = 2 + b)

=84=202b + 3 +b)

=84/2=3b+3

= b =39/3

= 13 HieR

b =13 Hiex

|=2b+3=2x13+3=29H

| = 29 Hiex

Ques 70. ANS (D) Solution:

fear g

V10 + V25 + V121

= /104 /25 +11

— VI0F6=+/16 =4

Ques 71. ANS (B) Solution:
feam mar gHfteRu §:




72 x25+45x20 =15 -7

IR GHIHRUT B TR B TR,

1800 + 900 = 3375 - ?

= ? = 3375 - 2700

= ? =675

Ques 72. ANS (C) Solution:

3sin x - 4sin® x @1 ATy
iﬁ;gﬂﬁﬁ?f%%inx—%insx:sin 3x
sinxﬁ&ﬂﬁ[Z%l

3IferT sin 3x P 3@f¥ 2/3 B

Ques 73. ANS (C) Solution:

BHEI B T-AT = 45

Ud®H BF DI 2 U7 3R 3 YRy fiyerdht &1

feu U 09 & WA 45 x 2 = 90

90 U &I ARTd = (90 x 4) 3.

=36073.

FRIERIEEARIE:

45 x 3 = 135

URd &t T = 135

= (135 x 1) = 1359,

$d MaRID oo

- (360 + 135) 3.

= 4953,

Ques 74. ANS (A) Solution:

A Tt o ot 40 feAT 7, B 60 faT H 3R c so AT A Q=1
P IHAI S 3R A 11 R H P SIS 21 8, 3R B I
HH R BN W 8 fa Ugdl T BIS ST 7

$A B = &l x forn T a9

%d B LCM (40, 60, 80)

= 240

A, B, C 1 G&IdT (240/40, 240/60, 240/80) &

DI GEATA B, C(6,43)8

11 f&= & forg A 7 3R 8 el & fow B w1 pa v = (11
x6+8x4)

= (66 + 32) = 98

3§ A BT = (240 + 98) = 338

TS 1Y B HIP BT B T HRA & (o8 HahH $A
fot ot Trem

ﬁmﬂ&fﬂ A+B+C

= 338/13 = 26

TS 1Y B HIP BT DI TR HRA b AU Maqd
o7t ot I 26 fe B

Ques 75. ANS (A) Solution:

T fod &1 3ifhd Jed (MP) x T0 B

42% BT o & TG A = x — (x BT 42%) = 0.58x BT
15% Q€ ol & &1 G = x — (x BT 15%) = 0.85x BT
15% 1 Gl HHNTA BC & & &G Hed = 0.85x — ( 0.85x BT
15% ) = 0.7225x TTY

TR,

= 0.7225x - 0.58x = 42.75

= 0.1425x = 42.75

x = 42.75/0.1425 = 300 U

Ques 76. ANS (C) Solution:

ERRER

I5H- fassd # AFRRISR gfiel & U e ¥ |
AT RRER A 2T R
Eﬁmﬁ,sﬁaﬁ@%wﬁwm%ma{ﬁ%
Qe |
ggwﬁmﬁwﬁﬁw@aﬁ-mm

I
U8 3RV UaRT & HiGdT e P UHH F HRd | G
ERGIE
CT&UT-UfEH 1 3R §8d U, TS AU HeH S1¢-aIeig
e Afedl § firerdt 7, srufa, feai an Ryt Sik ahfga
4l & 3uH e & 91, 39 FEYA S T H S Sl 6|
SIRTYA Yt & U SeTeRT & T Rl § SR Gférmr ot
3R §5 el B |
IRATGRT H, TRAT $HP alfe IR W e § oel 9 39
T B STEAT & A Y ST 71 g
g 3fdd: UaT Al H I 81 ol 8, S s b wret |
iR gl
The Brahmaputra:
Origin- Chemayungdung glacier of the Kailash range
near the Mansarovar lake in Tibet.
In Tibet, it is known as the Tsangpo, which means ‘the
purifier.’
The Rango Tsangpo is the major right-bank tributary of
this river in Tibet.
It enters India west of Sadiya town in Arunachal Pradesh.
Flowing southwest, it receives its main left-bank
tributaries, viz., Dibang or Sikang, and Lohit; thereafter, it
is known as the Brahmaputra.
The Brahmaputra enters Bangladesh near Dhubri and
flows southward.
In Bangladesh, the Tista joins it on its right bank from
where the river is known as the Jamuna.
It finally merges with the river Padma, which falls in the
Bay of Bengal.
Ques 77. ANS (C) Solution:
TR TS I HRl ¢ fb HHER TR db Uga- & o
AR & fra-t ufgpamt 7a T 8
U8 IUY 1 U (fYd srafdr & for orn 7 et B, 9]
BIC! BT IgR BIehl 5

Server Load expresses how many processes are waiting
in the queue to access the computer processor.

This is calculated for a certain period of time, and the
smaller the number the better.

Ques 78. ANS (B) Solution:

ERUNITE IR &1 9 1 JaTs 1938 B g3M AT 3 Th
YR Tifid e ok ARdTg o1t e §, ot
fEgET! R TRWRT H IR §97Td g |

T S TR UaRl o YANRIS H gaiT |

2013 ! Slagrc] fred SRS o & IRRYE & Sfta SR
forrerd o feraman g

J1 TURIYGHT ST HIRDHR GRIDR - 2021-22, Y YT
(1992), T=T faYNUT (2000) 3¢ RIDHR S |

T A GRI ITD! SADTRD SHia-1 S 30 s




2019 3R JRoild Rig &1 &R gre: gRu™Te IRREr
IR 5 pw Shafai g
Hariprasad Chaurasia was born on 1 July 1938. He is an
Indian music director and classical flautist, who plays the
Bansuri in the Hindustani classical tradition.
He was born in Pryagraj, Uttar Pradesh.
The 2013 documentary film Bansuri Guru features the life
and legacy of Chaurasia.
He won Gansamradni Lata Mangeshkar Award - 2021-22,
Padma Bhushan(1992), Padma Vibhushan(2000) etc.
Official Biography 'Breath of Gold' by Sathya Saran- 2019
and 'Bansuri Samrat: Hariprasad Chaurasia' by Surjit
Singh are some of the biographies of Chaurasia.
Ques 79. ANS (C) Solution:
U & A g Gd &3 &I Yafifd #Rd § ogl aaafaar
TR UM & IYT ST 3| & T UHR & U9 &b A &
o Swrpfedey ik Tr=idrer ur & feM i §|
S fea 9y & Ha:
Y U9 & HaM § off SWidbiead &t Sk Herail &
3fidfa WIT H Ry g
FToid & 'HOR 3R I oud & daH IWidbiese um
& Tl & IRV E|
STl & T &1 FaT o & HegH o werarar gl 3
grell 1 Tl § 9 § SR o uikfRufiest yomferd
go o aifere fafay g
AT 9 & G 24°S 3R 35°5 & o9 Ry g, fores
3T 3R TRT, SO 3R SIS & $ TR A & |
2 &l B, Saarg Surwrsfesdia 71 § 3R aui @¥ 9y
frafta wu 9 faala &t 9t g
Suga fargall 9 a5 Wy 81 o1l § o soiid & duis 3R
gﬁwﬁmmﬁasﬂuw%ﬁﬁ?ﬁm

|
Grassland refers to the large open areas where the
vegetation is dominated by grasses. There are two main
types of grasslands which include tropical and temperate
grasslands.
Tropical Grasslands:
These are the grasslands that are located in the tropical
zones and in the interior part of the continents.
'‘Campos’ in Brazil and 'Llanos' in Venezuela are examples
of tropical grasslands.
Campas in Brazil are also called Savanna grasslands.
These are rich in plant species and are more diverse than
forest ecosystems.
Savanna grasslands lie between 24°S and 35°S, which
includes Uruguay and parts of Paraguay, Brazil, and
Argentina.
In these regions, the climate is subtropical humid and
the rainfall is distributed regularly all over the year.
From the above-mentioned points, it becomes clear that
Compos in Brazil and Llanos in Venezuela are examples
of Tropical grasslands.
Ques 80. ANS (C) Solution:

SIS 1 a3 BT <X BT Sl &, i Tgl fay d
Ta Foll 1 qad % 3UTd g
Tg1 fay o ua Soll &1 ga 3ifere SraTd g |
g_ﬁfﬁ%afsﬁﬁ 3T ATt 47% B0 Sl o WY, Ua fagaH
I
ST SO faggd ATl &1 TIHT 50% 3Herd
Foll ¥ RT BT 5 |
Denmark is called the 'Country of Winds' as it has the
highest proportion of wind power in the world.
It has the highest proportion of wind power in the world.
Wind dominated, with 47% of the green energy coming
from wind turbines.
Denmark fulfil 50% of its power requirements from
renewable energy
Ques 81. ANS (C) Solution:
T 7 3O I TR B IS faeed! F T8 o & &l
YRS BT TRY TG U AT I BT 1 fas e o
& I d¢ Y FIRUGK B AU TGS T HIA BT
Tl 50T § | TES, YA 1 &1 7L HHH 2024 &
S H 39 a1 IS BT ASEM S| IRIRAT &4 J
YR 1 e R faeet # it X6t R TR e g 9
el 3T a1 39 YT U 39 I1dl SHa’] § Ugll Saard g3l
3R T8 WS HAled DI AU SIS HATIIIT BT TS|
Continuing the trend of moving its annual parade out of
the capital Delhi, the Army has decided to hold next
year's Army Day parade in Lucknow, the capital of the
country's largest state Uttar Pradesh. Lucknow-based
Central Command of the Army will host this annual
parade in January 2024. Traditionally, the Indian Army
Day parade was held in Delhi, but this long-standing
practice got its first change in January this year and the
parade was organized in Bengaluru, the capital of
Karnataka.
Ques 82. ANS (D) Solution:
I T T R fohahe Reare! o o+ g@a: U
JEETST & Y T IR O 3R 32 IS WaT| ! Jog ad
g1 7% Ul 99 ey & @7 wisad # eTel e fohdbhe 79
¥ &PRETT F GRI I3 RR W dic alt quT Sialke
IAHd &b HRUT 3! GG 81 T o |

Raman Lamba was an Indian cricketer who played in four
Tests and 32 ODlIs, mainly as a batsman. He died when
he was hit on the head while fielding in a Dhaka Club
cricket match at Bang Stadium in Bangladesh and died
due to internal bleeding.

Ques 83. ANS (B) Solution:

AHHTGRT fNHHE &I Iufufa & Fs sdf T Saaeii
&1 faRITI 3RS THTd el ol ]
ARG UHTd T SR guTd & ot fb Sifiide IR
THHU B DI ALIHAT TR AT ST § | FARHRD
THTd Udb 30T YdIehR0T UHTT B Fafd Bl & of T
stﬁaﬁhmﬂmmaﬁ% Tg U SR
EEICE]




The displacement of electrons in multiple bonds in the
presence of an attacking reagent is called the
electromeric effect.

The electromeric effect is a temporary effect brought
into play at the requirement of attacking reagent. The
electromeric effect refers to a molecular polarizability
effect occurring by an intramolecular electron
displacement. It is a temporary effect.

Ques 84. ANS (A) Solution:

uwa% H THd ANIRGAT I YR B 371 Y SR
el

YRA ¥, Thd ARG T B SauRoN fofer dfaur siufd
A AR

HRd BT WA R HRd b o Thel ARTRSG T UG Bl

|
RTINS T SHIATIH, 1955 TG b URH & §1g R
TR & gy, FuRor ok wmiftr ¥ Jeifid et
ERCIECES
In India, the concept of single citizenship is adopted
from England.
In India, the concept of single citizenship is adopted
from the British constitution that is from England.
The Constitution of India provides for single citizenship
for the whole of India.
The Citizenship Act, 1955 deals with matters relating to
acquisition, determination and termination of Indian
citizenship after the commencement of the Constitution.
Ques 85. ANS (B) Solution:
HEHITTE ST ST TR Wit dmR el g
3o -H1Y T aTR 1 342 & HhedR Bl Hld $IS o]
ERT IUAK] BT STl 5 |
T 3T 3T ST & 1fes @R 3 IS Bl o Wb,
I UG o, ITY DIU B Tdb, I daa Hob 4T fobll o
1Y IS R e |
g U ALY P 1Y IR o1 STl § SR TG sHabT
HIIRTZE a1 |
AR TR ST {3 ST a1elT Sfioq - Hiteaar
ST HTTP TR, HTel BTRRW o 1R T $1H
fRreRTRFY SR TSR §
FEY Yo SH1UH-R IeaR § W U foria siTmRfen
R gl
3 e § T Te, e, geg anfe wfiet g1
Microsoft Office is NOT an open source software.
Open-source software means the source code of the
software is made available by the authors.
It is done so that people can view that code, learn from
it, copy from it, alter it or share it with someone.
It is released with a license and the author holds its
copyright.
The commonly used open-source software is Apache
HTTP server, browsers like Mozilla Firefox, and Google
Chrome Libreoffice.
One of the most successful open-source software is the

Linux operating system.

Other examples include Android, Unix, Ubuntu, etc.

Ques 86. ANS (A) Solution:

g 2: § Hracor thed 1 65 d AP hed BRI
FAY AH U e o1 REBR SitdT| 65d7 AP fhed
REHR FHRIE 78 feeet & fagm o= & gan| g
fastarsit &1 3 78 HI AT Y DI TP RESR
g1 fopar |

Baahubali 2: The Conclusion film won the Best Popular
Film award at the 65 th National Film Awards.

The 65th National Film Awards ceremony took place in
New Delhi's Vigyan Bhawan.

All the winners were honoured by President "Ramnath
Kovind" National Award on 3 May.

Ques 87. ANS (B) Solution:

T qY-a fafesvur & U § Sl &7 Iol ST § 3R
ST U = & §1G Geat el aeil ey fafdh=ur o = u
o ST BT I PRl 5

IO e T fAfehRo 1 YT 51 § Fiifeh a8 99
fafes=ur & yepoi § Heiftid & Sfafes 3 off il
fafopor & YR § |

The sun emits energy in the form of short-wave radiation
and after receiving heat the earth emits heats in the form
of long wave terrestrial radiation.

Scattering is not part of the long wave radiation because
it deals with the scattering of that radiation while the
other three are the parts of the long wave radiation.
Ques 88. ANS (A) Solution:

FIY & YR srfeawy &t 93 g |

P &7 UTufies &5 & Sfald ol &

HY & URdIg srfemawy ot S § wifd a8 GDP, ASFIR
3R i # dTer a8 1 s fafafor oiik Jar &= o
3 3N &t & off vag FRar 3|

The Agricultural sector is the backbone of the Indian
economy.

The agricultural sector comes under the primary sector.
Agriculture Sector is the backbone of the Indian
economy because it contributes to GDP, Employment,
and export. It also helps other economic sectors like the
manufacturing and the service sector.

Ques 89. ANS (A) Solution:
HIHBTS Aigersi o fore 2i-ied Siers Ribrad udu
U &, S SRR IR I IS B RIS qol b
o forT T a1 Tieh gRT AdaR 2017 T 3 o wam 1
SHe-box is the online complaint management system for
working women was launched by Maneka Gandhi in
November 2017 to file sexual harassment complaints at
the workplace.

Ques 90. ANS (C) Solution:

it Tafed Pt & 9D




Ques 91. ANS (B) Solution:
g Hifd & Az Rigial & Wfaem & 4 v § srwe
36 ¥ 51 F =firet fowan e 1
&a%—g 51 SICRISIT R 3R YR&f BT Fgrar oA I HafHa
PRAT B
fifa & fdwe Rigia e 76 8, sufon T8 Tmme
R A1) e forar ST gevar B
The Directive Principles of state policy have been
included in articles 36 to 51 in Part IV of the Constitution.
Article 51 refers to the promotion of international peace
and security.
Directive Principles of the policy are not binding, so it
cannot be enforced by the court.
Ques 92. ANS (A) Solution:

| 1 HIAET A ssWl JdT I 94 Ugd &
ST & & & gHT i B
HTAET IO H UG 81 39 &7 § T gIR I THB I
IR R g1 ga X1t & THE 8, S &l SehT-31eT Bl o
Teh 1Y I 1 BT A od & | SIS g Rid
13 YW H R &, 181 HfY & forg Riws 1
TR Ui
Archaeologists have found evidence of the earliest
ploughed field from the Harappan Civilisation at
Kalibangan.
Kalibangan is located in Rajasthan. The field had two sets
of furrows at right angles to each other, suggesting that
two different crops were grown together. Most
Harappan sites are located in semi-arid lands, where
irrigation was probably required for agriculture.
Ques 93. ANS (C) Solution:
ST o5 §9 S § o HIeH &1 UTa IRR H TTsHl g1
3T SITaT 81 W-d TRR # 991 &1 UreH SIS 3iid d 8idl &
3R BIE 31 & T BT UTa= A0S YoeH B! Ggradl 9
m%mwwwﬁwW%%mam
Tdd gl
YIS &1 T THISAS §RT U9l § 7 fob Asud gRI1
S9ferT Fy gt 7ad 5
i TR SR ST 3R SRTT IR AHE
UTTgHT & FHg GRI YfRTaierss gaens # g o 5|
3T, TH HE T & (b fAded C Uel HY © Hih Ui
1 I BICT 3 H AU §RT U=dl |
As we know digestion of food is done by enzymes in the
body. In human body fats are digested in small intestine
and in small intestine the fat is digested with the help of
lipase enzyme, so we can clearly say that statement first
is wrong.
Starch of food is digested by amylase not by the lipases
so statement second is also wrong.
Nucleic acid such as DNA and RNA break into nucleotide
chains by the group of enzymes known as nucleases.
So, we can say that option C is the correct statement
because Fat of food is digested in small intestine by
lipases.
Ques 94. ANS (B) Solution:

Harg ucifergd fafeer g3y Rig 4 (Hardeep Singh
Puri) 7 4Tl & Fdcd UY R G/ &1 Igall U SRS
el I o D1 g3 el s, IR fereeh TSR &
T 15 IR QA I S T B AT S 381 8. S
ST & B3I B WER BT We |1 oira 3, e
YRA P! SIBTEIZOIRA TRe B IR FR H Aag B D
3{TAR & & 3R 2050 TP BTG IoH B e AN IR A
T AT IG@R 500-800 fAfera e g &t Iufic ©.
Union Petroleum Minister Hardeep Singh Puri flagged
off the country's first green hydrogen fuel cell bus on the
duty route in Delhi. The government is planning to run
15 more fuel cell buses in the Delhi NCR region. He said
that hydrogen is considered the fuel of the future, which
has immense potential to help India meet the
decarbonization target and the global demand for
hydrogen is expected to increase four to seven times to
500-800 million tonnes by 2050.

Ques 95. ANS (C) Solution:

TATIE WR YR 7ol o1 srgHerere fid gsara o
3N Yt arf Tfirer o1 39 gedrel & SR, s 3
Ugdll IR Y& gsard o At g faRiy yepfa & Ol ke
3ffgg Tl

The Ahmedabad Mill Strike was based on Gandhi's
philosophy of Satyagraha that involved the industrial
working class. It was during this mill strike, that Gandhi,
for the first time, went on Hunger Strike. The protest was
purely non-violent in nature.

Ques 96. ANS (B) Solution:

FeH! UG B T gb TR AT g9 g9
e = HgHIG foH adh &1 feeeh Hea-d & Raanw fagig
& dTc B1 | SgHT FIHTY S0 HRd H &b b1 Uh
TR T T 3R TRd Aeageiie YR 0l § ¥ T
Tl

AT I IgH ]ME BT T ATH SThR T T

The Bahmani Kingdom was established by Turkic general
Ala-ud-Din Bahman Hasan Shah after revolting against
the Delhi Sultanate of Muhammad bin Tughlaqg. The
Bahmani Kingdom was a Muslim state of the Deccan in
South India and one of the major medieval Indian
kingdoms.

Ala-ud-Din Hasan Bahman Shah's original name was
Zafar Khan.

Ques 97. ANS (A) Solution:

f3e WRTS &1 Hig-ary HRade Mel 4 1909 H WIS 3R
YIS JAT W U [GaR Fad HRd gu forar o7l

U TP g & U ¥ forar T @, srufd te
URIST/AHTER U & UT6d 3R JUTad & sid 9ai & U
¥ 83 @RS a1 YR §H-3a H 20 BIC 31 Qe
g1 7= ¥ 9§ fg R 3 gEl ¥ Yefia B

3MYMeh FRIAT B STl

YR TRIS B UHd 3R TR 3R 38 U A &
1Y 3R a8b




Mohandas Karamchand Gandhi wrote the book 'Hind
Swaraj', expressing his views on Swaraj and Modern
civilisation in 1909.

It is written in a dialogic form i.e., as a discussion
between the Reader and the Editor of a
journal/newspaper. Hind Swaraj or Indian Home-Rule
comprises of 20 short chapters. Primarily Hind Swaraj
deals with two issues:

a critique of modern civilization,

the nature and structure of Indian Swaraj and the means
and methods to achieve it.

Ques 98. ANS (C) Solution:

Uiuw =Rg AIE A Ue Wiy Al d¢ YR ¢l 1 g1 el
feaTens e < foan B, wammHt e A 3 fifgay
HIHRIT P ATem 7 9 HRd eI 31 831 Fe feamax
TG b, S 1Y B &R H 3(d d¢ HRA ¢l bl Hdl
T 34 BT B, A 9 ¢ 11 T4l IorIM, AT,
AT, 38 USRI, R, TSN, IRWS, ORI, HHICD,
f9ER, ufd sa & PAfacfadt & ggrar &ift. URd & ugalt
I YR ¢ &1 Iarad 2019 H fwam mar t.

PM Narendra Modi has created history by flagging off
nine Vande Bharat trains simultaneously. Prime Minister
Narendra Modi flagged off nine Vande Bharat trains
through video conferencing. With this, the total number
of Vande Bharat trains in the country has now become
34. These 9 trains will boost connectivity in 11 states
Rajasthan, Tamil Nadu, Telangana, Andhra Pradesh,
Kerala, Odisha, Jharkhand, Gujarat, Karnataka, Bihar,
West Bengal. The first Vande Bharat train in India was
operated in 2019.

Ques 99. ANS (A) Solution:

foreft T 7 &1 1 il &1 e 7 hiies 3R B!
SFTHTT URad &) UiRfRUTIesT S HUT T ST B
FoR & ® Urelf & gardl & faer & uifufasa
ST gl oIl & |

SFIHHUI &b SR, PO ST Teb & BT JUMIY BT &
3R I SMaTS! 3feh 81 STl 8, el 3= wofiferdl b
SMTSTE! g€ S 8 SR e ot g1 Sirelt &

el &1 a8 I 4 S fdl fau e 83 ¥ e U ¥
FEAdl §, TN Bl g

The gradual and fairly predictable change in the species
composition of a given area is called ecological
succession.

The development of plant communities in barren area is
called ecological succession.

During succession, some species colonize an area and
their populations become more numerous, whereas
populations of other species decline and even disappear.
The entire sequence of communities that successively
change in a given area is called sere(s).

Ques 100. ANS (C) Solution:

URMTE Wdl 7 13 a6l & §1a A $1 a10RA 81 g1 ¢ 1 A
& ghiTanet 7 199 TRMTS Wdl # Afgen SR g&u & o §
AR & US 3R LSS GHEa Y& 8111 IS Gohraa

THd Ugd 3R WSS garad S ARy & forg g1
YRS H Feoht ToR YRS fa=d HY 2023 & Iufduidl 7@
HRd & THRETY UHET R 571 | URHET & el fa=d
?ﬁwmﬁmwﬁwﬁ@ﬂ%ﬁ
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Chess is returning to the Asian Games after 13 years.
Rapid and standard chess matches will start in men's and
women's categories in the 19th Asian Games in
Hongchoan, China. Rapid competitions will be held for
single medals and standard competitions for team
championship. In chess, everyone's eyes will be on
India's Rameshbabu Praggnananda, who was the runner-
up of the Chess World Cup 2023. Praggnananda's
brilliant performance in the Chess World Cup has
boosted India's hopes in the Asian Games.




